
PRODUCT DIMENSIONS

Technical Summary

1

7350105213540EAN:

COMPONENT CHECKLIST

www.multibrackets.com

B1 B2 B3 B4

X6 X6

M8x10 M8

X1

Open-
wrench

X1

5mm

C1 C2 C3 C4/C5 C6 DD

φ25mm [φ
1.0″

]

27mm [1.1″ ]

42mm [1.7″ ]59mm [2.3″ ]

55mm [2.2″ ]

25
m

m
 [1

.0
″

]

19.7mm [0.8″ ]

38
m

m
 [1

.5
″

]

10
25

m
m

[4
0.

3″
](M

in
)~

17
05

m
m

[6
7.

1″
](M

ax
)

M Pro Series - Floor Support 
1025-1705mm Black

M Pro Series - Floor Support 1025-1705mm Black

X2X6 X2 X2 X2X6

M6x8 Foam RubbetCover Foot Pad



2

INSTALLATION INSTRUCTION

www.multibrackets.com

Confirm the installation
height and width

Height

 Width

Measure the distance 
between floor and TV

5mm5  mm

UP

Attached to the foam rubbet to the supporting extension bar to avoid 
friction with wall;Foot Pad can adjust height and avoid friction with the floor.

1 2

3

5

4

Foam rubber (C4/C5)

Foot Pad (C6)

DD

(Not Include)

M5x8
(Not Include)

M8x10

B4

(Not Include)

Wall Plate

Rail caps
(Not Include)

Only this one is optional

Adjust 
height



3www.multibrackets.com

5  mm

Connect to the Aluminum Rail6

7

Cover (C3)

B3

Optional installation

C1

C2

C1

C1
φ22mm

Plaster Board Wall

C2



4 www.multibrackets.com

Attaching the TV to the Mount Put bracket arms on Aluminum rail

Cable management

Cable

8

10

9

Foot Pad (D6)
Adjustable Safety Distance


